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1
Time : 25 Hours] [Total Marks : 70

qast : (1) oal o wadl srad B,

() oal o uadi-l oL UMl B,

9 Vs A A dHl USIRL AHAAL. ¥
2Yql
9 yyadl Rafda-dl 1y usendl. ¥
28 {2l Wda Hedlml HAAL dslad-l dui s ¥
ol | Aval (V) | weas (m) | wael [aad (SD) 0.05=1.97
YN 100 0.22 0.03 v
20 100 0.25 0.04 0.01=2.60
2Yql
2 sifas oeldr 2 Zl-sAldlHl dslad agldl, ¥
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3 A Ygli gl Asiely duIRll. 1y

X |36 (35(30|32[26]|46 (50|42 36|20
Y 140 |30 (3525|3045 |55(40 |40 |10

wYd)

3 oI deld ugld gl AsAelbisl awidl s, ¥

Qo | 29,34, 36, 28, 27, 26, 31, 33, 35, 31
DRl | 28, 37, 28, 30, 26, 27, 20, 25, 26, 33

¥ AW [saNel gl QR s, ¥

76, 71, 68, 69, 73, 75
79, 78, 76, 69, 76, 72
81, 79, 83, 73, 81, 77
83, 84, 87, 78, 75, 85

0.05 = 3.10
]
0.01=4.94

S| Y| |

wYd)

¥ o as[aaRel yassiwl AHAAl. 1y

W [uge udleel gl dslad duril. ¥

X 12,13, 15,16, 18, 14, 11, 10, 19, 20, 21, 24
Y 10,18, 14,16, 11, 20, 13,17, 15, 12, 22, 20

0.05=0.97
wYd)

v s89-990 08 wgli 22l ¥
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ENGLISH VERSION

Instructions :
(1) All questions are compulsory.

(2) All questions carry equal marks.

1  Explain the meaning and types of Statistics.
OR

1  Explain the measurement of Central Tendency.

2 Testing the significance of difference between Means of

two large and Independent Groups :

Sex | (V)] (m) [(SD)| 0.05=1.97
Male | 100 | 0.22 ] 0.03 &
Female | 100 |0.25 [ 0.04 |  0.01=2.60

OR

2 Describe the difference between critical ratio test and t-test.

3 Examin the correlation from Gains method :

X |36 (35(30|32[26]|46 (50|42 36|20
Y 140 |30 (3525|3045 |55(40 |40 |10

OR

3  Calculate the correlation from product moment method :

Yog | 29,34, 36, 28, 27, 26, 31, 33, 35, 31
Yogita | 28, 37, 28, 30, 26, 27, 20, 25, 26, 33

14

14

14

14

14

14
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4  Calculate from analysis of variance : 14

4176, 71, 68, 69, 73, 75
0.05 = 3.10
B |79, 78, 76, 69, 76, 72 N
C |81,79,83, 73,81, 77
0.01 =494
D | 83, 84, 87, 78, 75, 85
OR
4  Explain the analysis of covariance. 14
5  Examine the difference from sign test. 14

X 12,13, 15,16, 18, 14, 11, 10, 19, 20, 21, 24
Y 10,18, 14,16, 11, 20, 13,17, 15, 12, 22, 20

0.05=0.97
OR
5  Discuss the Chi-square method. 14
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